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Corrigé de I'exercice 1

Effectuer les conversions suivantes :

»1. 4,97m? = 0,049 7 dam? »4. 15,1dm? = 0,001 51 dam?
»2. 26,6dm? = 266 000 mm? »5. 11,5dam? = 0,001 15 km?
»3. 77,2dm? = 0, 772 m? »6. 89,7m? = 8970 dm?

km? hm? dam? m? dm? cm? mm?
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Corrigé de I'exercice 2

Effectuer les conversions suivantes :

»1. 88,2dam? = 8820 m? »4. 9,91 cm? = 991 mm?
»2. 7,12cm? = 0,071 2dm? »5. 3,01 m? = 30100 cm?
»3. 4, 75km? = 47500 dam? »6. 79,5m? = 7950 dm?
km? hm? dam? m? dm? cm? mm?
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Corrigé de I'exercice 3
Effectuer les conversions suivantes :
»1. 38,9km? = 3890 hm? »4. 2,25dm? = 22500 mm?
»2. 5,53km? = 55300 dam? »5. 2,51dm? = 25100 mm?
»3. 79m? = 0,79 dam? »6. 33,2hm? = 332000 m?>
km? hm? dam? m? dm? cm? mm?
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Corrigé de I'exercice 4

Effectuer les conversions suivantes :
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»1. 2,09km? = 209 hm?
»2. 57,9m? = 579000 cm?
»3. 4,38dam? = 0,043 8 hm?

»4. 5 57dm? = 0,000 557 dam?
»5. 7,04cm? = 0,000 704 m?
»6. 5,76 km? = 576 hm?

km? hm? dam? m? dm? cm? mm?
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Corrigé de I'exercice 5
Effectuer les conversions suivantes :
»1. 98,5m? = 0,009 85 hm? »4. 5,48m? = 0,054 8 dam?
»2. 75dm? = 0,007 5 dam? »5. 18,6km? = 1860 hm?
»3. 62,9m? = 0,629 dam? »6. 19,9m? = 0,199 dam?
km? hm? dam? m? dm? cm? mm?
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Corrigé de I'exercice 6
Effectuer les conversions suivantes :
»1. 3,47dam? = 0,034 7hm? »4. 2,51 dam? = 0,000 251 km?
»2. 36,6m? = 3660dm? »5. 95,1dam? = 9510m?
»3. 27cm? = 2700 mm? »6. 3,2dm? = 0,000 32 dam?
km? hm? dam? m? dm? cm? mm?
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Corrigé de I'exercice 7

Effectuer les conversions suivantes :
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»1. 3,78hm? = 0,037 8 km?

»2. 63,1 hm? = 0, 631 km?

»3. 93,2dam? = 9320 m?

»4. 9,85cm? = 985 mm?
»5. 96km? = 960 000 dam?
»6. 1,1km? = 110 hm?

km? hm? dam? m? dm? cm? mm?
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